1
J_}u Shl ) o2
1
; ©)
B y
_:‘_:_ i N o
11 16
N[
131
16
I 103 ’
. - 7
%16
9
%16
| ;
- x|
1 il
s | %46
L i
4 8
Note: Measurements are in inches.
R“STIG@ Part: Low-Profile Hanger Scale: 1:1
ROLLING DOORS




._2%_.
_.}%._
N [H P EZ% TN
’ Al (ﬁ\)
N |8
7 AL 43
245 - 103

11
D
&/

%
LZ 13 | @ -

16
-1 - 12
Note: Measurements are in inches.
RUSTIC—E Part: Low-Profile Single-Track Bypass Hanger Scale: 1:1
ROLLING DOORS




5
16
H Length of the Bolts, Washers, and Acron Nuts
] (when in place)
3
= % osa) ; \ Hanger
\ | | L
- 3) } : E
= ﬁl 1% EI:_ 2%% -~ Minimum and
_D i 2 = 1 L~ | Maximum
H—ST E)r Z—l (11 %!6___.% Length based on
8 “—Liz 16 :Ij / Door Thickness
51
g~ Hiaf
3
2}
Ll <]
1% —\/ 16
11
-3 \/ 16
Minimum
\ =/
Maximum
Door Thickness
Note: Measurements are in inches.
N Part: Low-Profile Single-Track Bypass Hanger Scale: 1:1
OLLING DOORS




i ] = |
A Thefed]
~JEF = 8=
v Ill 54 |
‘(1'2:9.) - 16 -}~ 16 - |
-‘|11"'- -"11|—
v | 60
(2?,-) | 16416+ 16-
=85 “18p>
1an | 66
3376.) L_‘1e--1s--1s-
eLj= =

—rﬁ.—w—-

v | 79 | 79 79 |
(2239) | F6+16t164-164 | | L164-164-16+164 | | |-164-16-4 16| 16- |
1 - Fi- -
18.1 - || = || o !
210 I_-1e--1s--1s--1e-J | 164161616 | |_-1s--1e--1e--1s-_|
i - W ~H—j4- N 4=

. . ] - || 0 |

(13_) | . 16 <~ 16 -~ 16 - 16 -~ 16 - | | |16+ 16 - 16 - 16 -- 16 - |

g 55 —5—

al e i & |

(;lé',)[ - 16 -~ 16 -~ 16 - 16 - | | - 16 - 16 - 16 - 16 - |

~{10 - ~10 10| ~J10

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Tracks (Page 1 of 2)

Scale: 1:1




7
| |16 -} 16 -}

2
- 16 - 16 -

(62;7?)" | *16+13$18+18-

~{73~

—

-

7l I 84 |
(237 | - 16 - 16 - 16 - 16 |
— 10 |-

—e]

|
76" | |16 - 16 -

(237 ~ 16 -1~ 16 -1~ 16 ~ 1
. _..5|-_
L] mn 85 I
7(2;17:! | ~16 =~ 16 =~ 16 =~ 16 -~ 16 - |

A

-

13" |

79
- 16 - 16 - 16 - 16 - | |

79
- 16 - 16 - 16 |- 16 |

R

12'

(1447)

Fi-- i

|-1e-|-1s-{-1s-|-1s-_|

[-134-13-4*13-]-‘13-]

- - -

11" 161616 |
(132')—-;9-— o9 ~ o

J |-1e-|-?:-]-1s- |

10” -13-!-?3-!-13-

| [Eefueted]

(120')__18

~6}—{6- ~6-

v | 54
9 | 18t 16

|| 5 |
| |

- 16 -} 16

(108°) =

~ 1 -

M 1 1

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Tracks (Page 2 of 2)

Scale: 1:1




16

13
3 | L 16
8
a‘%_/ Fig 79—-— Varles—79 ;9 %
g%_/ 2;1%/ g%J

-t

=
{

=

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Track

Scale: 1:1




13
%46
5 t
4
9
o2 * i
P L
2 }
LT

]

Note: Measurements are in inches.
N

ROLLING DOORS Part: Spacer Scale: 1:1




Sl

Nl=

-0

NOTE:

Supplied with the following:

4 - Flat Head Hex (Allen) Screws
4 -6 mm Nuts

1 -4 mm Hex (Allen) Wrench

M=

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Junction Plate

Scale: 1:1




NOTE:

Supplied with the following:
2-1"#8 Sheet Metal Screw
2-1-3/16” (6 x 30) Plastic Anchor

:
T

7=

:
|

11
KT =
| = |
7
6 ™ o
5
—= 5

15
i
3
™ :
—
P =2 =

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Floor Guide

Scale: 1:1




NOTE:
Supplied with the following:
1-3/4” #7 Wood Screw

Nl=

—— I --—i

Bl

00l—

ool—

Nl=

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Anti-Jump Pad

Scale: 1:1




SIDE VIEW

B |
1 8
9
: 16 I
%K E__ ‘
1 1
3 14 9 |
{16 <D 3
i ’ %16
16 -8
B %
8 \ 7
\ 16
* N D
13 L/ L/
16 7
' P 15
9 i 16
16 — ! |
1 5 ] “ 3
16 FRONT VIEW *—1—6.

NOTE:

Supplied with the following:
2~ 1/4” (M6 x 6) Set Screw
1 - 3mm Hex (Allen) Wrench

3 | |-
=4 L 4
9
S 1 16
I ] I E—
13
o I R B
2 — 9
{ 16 i 16
}
(- - f
4
TOP VIEW

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part: Door Stopper

Scale: 1:1




~— dles —=
N

>
D

J

13
116
e )
3
116
l g 111
.S | _ S _
8 8
9 |-
16
NOTE:

Supplied with the following:

™
ks

2 — M5 Phillips Truss Head Screw (1/2” overall length)

2 - M5 Nut (5/16” across)

2 - 6x30mm Plastic Anchor (1” long)
2 -M6 x 24 mm Sheet Metal Screw (1” long)

]
—— ——I
00—
-l
=\|=>
ml(’l

\
ol

k- T O
16 _ 5

8
3 1
Qﬁ 4

olw

N
o

| an

olo

Note: Measurements are in inches.

RUSTICK

ROLLING DOORS

Part

: Outer Door Floor Guide for
Single-Track Bypass Hardware Kit

Scale: 1:1




NOTE:

Supplied with the following:

1-16mm M6 Socket Button Head Screw (3/4” long)

1 - M6 Flat Washer (1/2” across)

1-M6 Nut (3/8” across)

1 per set of 2 brackets — 4 mm Hex (Allen) Wrench (5/32”)

Note: Measurements are in inches.

nu STIC—E Part: Anti-Jump Bracket for Single-Track

ROLLING DOORS Bypass Hangers

Scale: 1:1




